3%

Algebra 3-4
Unit 1: Solving Day 1

Name:
Date:

Per:

INSTRUCTIONS: Attempt to solve each problem by yourself If you aren’t sure, try your best and

then move on to the next problem. It is ok if you aren’t sure, but it is not ok not to try. Only

write in the left column.

br 1 F b= Checke.
12X ] mﬂ | LOY—) HECD = //
o b=l +6=1
| 2x =12 /—9@ ~
i %;%6#//
<x+3)2m = qu OR > xti-H=0 Cheek” ’
S SR BN SV T zo) (-] F3)Y L
— L5z =0) (-1 F O
v Gct3 3 (x%)(xw)«o if){f/% ) (25~ l=0
AL y
FE =7 xpp=-2\ o Y= |-4=0
ix"' <=5k . O/ /.

“";}X — & déx“”g

(hecle..

7
=5 - 5] +7/o>>- ~

)

,/g_‘__ug e
— 61X e ¥ 5@ o — g0 4—0)_—~——’€§
Lo, —elp=-§/
J2VxF3-1=7
R 7L11 + | CW{

s

-

;ﬁ‘s’{f?«
ZJTT*I/

2 4-1.%",

: ‘ Dy
(j;=§+1}5>< -1=5X QGLL
z ,
Di - 80% 1 5y ’g’“) i”’zwfff)
f{% :.._,é +5X —5=— L] J




4.’)6 + 2y =10 x%l = C}L&L }7,‘1

oot (é)+zzw7>w [0

6>< 35 74 %m)L{//O(/
Phs 1L ( |
_é?"‘lf)""]é —>. E—“—)?@f% ’f.z@
—3 —6(4x +6) > —111 ] Chacke |
% pix-36>-1l TE o2, e
s —2 7] 70y
1 ’rg‘"{ 131 %<5 Eg,é%(") 3—/1; ,
. %%ﬁ/f —&2>-1 /
Z-5fx-5]=-73 Cheelr. | )
1 2. Sebels |, 5\5(@ 5|73 2-5[5(2-9%7

B T
- . = '~E =1
|sx—5]=15 \&@-—-1@ [=5]15]=- } 7 e 7

7 é-: El L
Xm%x—klo )X 7 &= Qn,wiz__:

q(x 0= [ (g(xﬁ “ —ppto 1€
5 -6 —7 “
OAX o _8g?<< ~ 136 g /
W FOD =B —> K=—IHb e
= cmxz
b2 D0 =O 20 (;z) ~(3(-2) =30
X125 - . ) “3(/5) = o 1250
(s B(x+2)= 975 ~ |95 =70 =
><:*—/’5/ x =L | . |




